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Paper Code

u'llafLul!u/uc.gﬂw/bdia.;élzﬁdl:’//QKL}L? -wzg: D s CB-:A .an'j/loLJlr/ /d,,
_b’ylu"wuliufx u‘wu"‘fd_/(/ fuﬂd./f J(UJI‘)')LJC—n—{' -4)/:...0“/(/&)/0/!);1# 1
| D C B A Questions / Uiy e
| = <> te At d LGl L erto§ uf Lo
ke ] : % 4 1
L_ O Which symbol in flowchart is used for decision? ]
o Lar [ Se R Gl | Lt Y N e e
| Best Strategized | Candid Prepared |Which solutions are not reached through proper 2
'}__s_glution solution solution solution jalgorithm planning? o
' 10001 10110 10100 10000 bl SODWART A
R N S {Number “(17)10” is equal to __<in binary system. -
! (:/ SIS ’.’/'/-: = . ’fwvc?j}k [ @\%VJJJYJJLU)J 4 !
. RAM | Memory card Flash drive Hadr;ii\iiésk Example of volatile m is: i
L L
i el ekl (b Jf;:/.: %ﬁ‘?@b 4:4./\)); okfd)’;r‘g;. 5 !
{Information| Address Message Protocol |The receyp%; capable of accepting the: |
ot R T T e A b ol e S B
: A1 a7 s U “LL“/(J‘lausU/ufﬂ/J/yru/ |
i . . o esses services made available by a server 6 |
i Client Server Path Area uter?
! Lf/LJUul gt o LENK) Slsars () s ;?g ?‘,l-ﬂf'.‘i\jwuffulh;&;&./f’&l“gd:u’
| Online | Client server [ Qi{%“ Which does not include in the types of software 7 |
! piracy over use Liability INg | piracy?
‘ Deiiial 6F . 4 JL&:L._:‘/uf‘jw._ﬁ;.:gwffx9,§tﬁvu/
Service | v g Se b JUL | g
‘ (DoS) | Machine fing .~ ARMY | Which cyber-attack makes machine or network
b N ,resource unavailable for a user? N
! } | ) ”
Middle Startand End|  End Start | bR e PHIML g
i : i An HTML element usually consists of _ __tags. B
: -/U’L" 1 s | el s ’?SM%&CLV”’“—('"’%—’JZ*)VQ 10
. | An individual list item can contain another entire
Detflnsxttlon | Nested list | Unolricsltered Ordered list| jist is called: J
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06,02 What is cyber-crime? Explain its any three types.

ufg.;;// (J&Jt.ﬁ)u"' /L//J’;;{.{

40 A4S & 01:45 3
(Part-1 : Ui*) fa Kﬁ — /24

»

Werite short answers to any FOUR parts. -g.:«l_,lz/‘“." L»zutgr_éf 2
Write two advantages of flowchart. -é{_}ﬁ’l}:)ﬁ;«/g:ﬁ (€))
Define invalid test data. - __é.g/"'d/&_i:/:“w»t @D
Why connector is used in flowchart? (.'Kc_t‘ﬁdb':’lf‘j_uf ;,éf U ..‘//‘g:ﬁ (iii)
How “draw a picture” is useful in defining a problem? o bsteibisd = S LE e (V)
Explain trace table. _néyu,&j-"ui) )
Why “rowspan” is used? ?;‘,m,wmé,u( “Es” (i)
Write short answers to any FOUR parts. -é.pl.,lz/:.’ Lplzukaaf 3
Convert (10011); into decimal number system. Ut (U:'szl;"ﬂf (10011): ®
Make truth table of OR operator. -2:_[‘/.()‘-"3 £ OR (D
Explain Hexadecimal number system. -é;«?u)gf (‘"’ A d"-/”il’/é (i
What is proposition? ?%Jnk_fcﬁ}gl/? (iv)
What is copy right law? @c‘;“\/ wisedy (V)
What is advantage of encryption? b o SGVHSH P vi)
Write short answers to any FOUR parts. @ -ﬂauzﬁ‘ L,uzut;c,éf -4
Give an example of point to point connection. o {& O.{;JJP..{!JJ’J&!{‘:"&!Q ®
What do you know about file sharing? % vujilg}f.?fuf z.;i_.ﬁf ¥ g G
Shortly describe user communication. %5@ -_é Wl /""’ I b“/:é ,_f 2y D
Define SMTP protocol. @ e J§S I SMTP (V)
Whrite start and end tag of ordered list. @ Bl el (V)
Define nested list. z\@ & e G
..ujl/e} 0 >j;-§i:4fa§l££aulr:)cé]¢f»y
Part - I, Atte TWO guestions. Each question carries 08 marks.

NI L ﬂ,,g;é./aawé_a_fwfzz,m,«f e LIWF) 5

Suppose a problem has multiple algorithm. How would you choose the most efficient
algorithm to solve a problem?

Explain star and mesh topology. -_éf;.wu:J u".)’yJ’f »L 26
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u‘lbféulih/uc.ufu:/l)zz.)‘:‘.lzﬁdly//QKJ]:” _wcfc.) D s CB A uU?.ﬁJ(ﬂLdb’/ A
-b’n;r‘lﬂiuliui,bgﬁun‘()L/ L uﬂc./(/fu;/butzc..uﬁ -é:/c.uﬂ,le.fuuw

‘ - l) B C B : A Questions / =i» A;;;
j .ﬁ(uc':' ({;u:’ s J:(;;/_ (.'/T'_.JT / ujl,g}(f’/:'gfr/'f/ 1
| Networking| _Storage Software Protocol _|Router is a device of which type?
.- LB s i et wJFdIE F A |
I Hacking | Softlifting Patent Pirac Making illegal copies of software is called:
| sl - iracy g 17'cg Hec
T Irew | LESES g e , e
l p | c_.). o 2 . i ’t_)i Vafdeu«wﬁu@JUIJul
e JJ"] Jb’l(r/l’ u:»(ff 3
© E-mail | Actual link Using of | Similar domain| Which is not characteristics of phishing 4
| account toweb  |forms to Follect of actual  |website?
' updates content visitors website I
L daE S ISl N2V e G LBSHTML | 4
| Security | Graphic Markup Programming HTML isnota I ]
! N -<'_tblfJ,vLLL/ Jﬁi/y B
Allthese | Textedit | Notepad | Notepad ++ Webpage can d and modified by 5
o | ‘ e using: O !
A IR
i ) 4 v tati f
| Solution | Flowchart Graph Matrix E@i PRplivet represeiation o !
‘ ===
| et | 7 ot £ g\ e inkel/pied|
4\ i = ) =~ %efore problem solving, we need to first L7
r* ~Output Analyze Test a problem. o Q}
S : + @9 e uofenl gl OR|
; (\<§ Which is the symbol of OR operator? | J
T . & e / ) — r ......
| P | gsadr| a0 RS Lo i
| Good Moral rical Boolean let s cold outside? is a:
|_proposition | proposition| pro ition proposition |~ % "7 e e A
| . KI/J}/J ulw‘c/f.«w(vbfuvr.ﬁ t 1‘
| L j//'.‘.’ ol et «—‘4"? _(__r/‘
Area Sharing Numbers Text A network facilitates communication and |
S 1 among the connected devices. |
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(Part-1 : i) ngﬁlhﬂ

Write short answers to any FOUR parts, -éu“i/‘; ‘C'l?ugc_(}f 2
Write two disadvantages of algorithm. & f ,quér" P )
Define test data. . Eaffsed G
Why connector is used in flowchart? ?c‘:_belr}ii.J /'.Qf J..wlg;“ (iii)
Explain trace table. e S A ()
What is ordered list? ?c‘_éngfg)/u w7 W)
Write the purpose of <u > and < img > tags. e LR <img> s <u>  (vi)
Write short answers to any FOUR parts. -Jau.?/‘? L;I?Ube.éf w3
What is meant by logical expression? el A /-’"/ K (6))
Differentiate between bit and byte. -c‘:ul/d/’u" Astee (i)

-égiu'.dl/ St Uy .’_‘ru‘mg}’);l/af)ﬁdb (i)

How to convert a binary number to a Hexadecimal number? Explain with example.

Convert (1000001); to decimal number system. Ede st (wdmd/&ﬂf (1000001),  Gv)
Explain the concept of softlifting. : SP L BBas (V)
What is client server over user? e ugminseiE (i)
Werite short answers to any FOUR parts. -é’..,pyﬁ‘ L»MJ c.éf A
Describe hardware sharing. o {&%O S EF 7 P2 )
Differentiate between client and server. Z:/ (FOPOenlnmeiE (D)

Differentiate between payload and control informatlo%S@ - 70 s Lo zluld:/yb)L (i)

Define ISP. @ W ISP Gv)
Define anchor. -é..:y ¥l Jﬁl W)
Differentiate between “colspan” and “roy@e@ SO n Ll S I (D
o < o ‘.
- 08 J /;-é‘f/_j’;&b?ci@lﬂf»a.d/{»/
Part - II, Atte WO questions. Each question carries 08 marks.

Q)\) _qu?LuJJU//LU'IJL;J’IEJa‘éJ}’JKJJ -5
Define an algorithm and argue on its role and importance in problem solving.
Explain the components of communication system. G eolonfslz ‘ﬁf’/ u”ﬁ A 6

_éJ:UU»./"le/(J’/ iu"(,c-n/u/ 7
Describe the importance of encryption for everyday life on internet.

022-1X124-35000 {;
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Objective Paper

LA I AL e L s e i g §632 <UD 2 C B Azl g | A )y
-(wraw,«l!uﬁdi u/)ﬂ{é./&/uﬂ&.)szﬁm&;éuf -é:/ 1
D C B A Questions / = Uy A
‘-J’c”{ sl <l ..U!Z.U-ufuf-fv( izt 1
Protocols Addresses Channels Routers connect multiple together.
S G S 2utdfes )AL PSS | 2 |
o ies sell software with a confidential text,
Description Software key Encryption E :
p T i ” ufub’} M?JV;‘!LVJHJJ ey |3
(ﬂ ¥4% 7 Jalz o2 _bﬂ,‘f"
i i i i means makin 1llegal and unauthorized copies of
i P ey Broweing Right the software wmhou‘ég owner's permission.
LT | e AT e ?Jndwwquf s R Tolie L z'J_,Ll}!‘..ﬁ.,a 4
is useful for situationg where you have multiple
Un-ordered list | Definition list | Ordered list Nested list | options for single item in@ lis
O
(e-Ude) OQ)
N\
) ;
* X K e Objective Paper Code 5835
D C B A Questions / e lly A
S IR £ F bl Le. /»a,,,»,g‘;" L@’%:ugfvf 5
Link Hyperlink Tag “Anchor g anotggrk ;;lrtws you to go from one part of the webpage
5 3 2 6 R Ut S "W & Léé;:bz.f 6
How.iiany "Ws" are necessary to understand a problem"
; Strategized ; . Prepared | Which solution is not reached through proper a] orithm
Best solution solution | Candid solution|  goution  |planning or work planning? P &
S ﬂig:{u‘gg ﬂ){,’){fvfg ﬁ/’ggqjjx iuj'%”:c,l ‘U,?a’f ju,gf/f. ! ;c_q:/,rf;ég,,ua’.’ 8
Truth table Complex Compound Boolean | Sometimes we assemble more than one proposition to
7 propositions PfOPOS“lOﬂS propositions | make one proposition, it is called:
7 - £y . s I
a (’U/} (‘/Li)-h.!-l L (7 W 4'[& fq,t'JULw'l(" w J.‘E—ij Vw!rub:lrtbd el 9
Octal number | Decimal system | Binary system | Number system | A is the system for representation of numeric data.
Gl | D | Fad | RS -
Electronic Electronic El . g s . N - ¥ = J‘{‘j' 10
| message medium ectronic mail | Elecirical mail | E-mail stands for:
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( Part-1I J34da )

08  Write short answers to any FOUR parts. -éayz/"t»zwc.éf <2
Why we use five "Ws"? ‘-’q_‘:’L)Ul«’;’u{ "Ws" o;(f (i
Define flowchart. .g£ - }71:..«, L,‘,G (i1)
Which solution saves our time? "L»“'ISJW'VLP Jy( (iii)
Write list of types of test data. ey /de}u’g e (V)
Write tags to insert space in HTML. F~ey ~EFBL LD e G HIML ()
Write tag to create table in HTML. AL -é/fj'} LB HTML  (vi)

08  Write short answers to any FOUR parts. - ‘t*«r LAY i 1A LB ‘JQLV/‘."’Z»!?M'GM -3
Define ASCII code. - S8 asen ()
Convert (1000001), into decimal number system, _g’; g ‘ﬁﬂ(l&'wul‘v (1000001), (i)
Write two examples of secondary memory. &b uijt'}»g; R 52 (iii)
Write two examples of proposition, - -l ‘Tu-J- (3% JJ"-/‘;.«,; (iv)
Write two types of software piracy. _al rl;‘l:)dlifg,:’:c)l« %)
Define the phishing attack. - hishing attack) ] B (vi)

(e-die) @

-2 =
08  Write short answers to OUR parts. . : - :4'?/"2:;17!4 eéf
What is the use of HTTP protocol? ?c.d(r’lb({dﬁu HTTP (i)
What is the purpose of transport layer? / e Klf?ﬂuu;’!/ (if)
What is.meant by message? Sl e by (i)
Explain control information. A -".é =2l L,(:,bl"‘ Js /"f @iv)
What is meant by colspan? ?q_:l/l;(cuﬁ?dg )
What is meant by heading and sub-heading? Se e Fhaoen bk (vi)

-UZ/‘.} 08 ZJivz -é{faylﬁégﬂlf:;aéf «pdgd i,
Part - I, Attempt any TWO questions. Each question carries 08 marks.

08  Write note on the types of test data. -é;..//{i«i{(tﬁlg! Lo 5
08 (a&u}’zgﬂydf) é Wl %.dﬂon/}u:ﬁ/ ufJJ;g//’,:::{
Why we need computer network? Explain in detail. (only four needs)
08 _éubu/!d’ d/@/ur/'ubdi/ofju % "g)lf'u/c—d/{e‘" -7
What is encryption? Explain the importance of encryption for everyday life on the internet.
921-IX123-35000
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* ‘/3)5.:/3/ (Uﬁ/’pﬁ? ) W L//b ‘f."/:{ Code

10 AF 2415 1y 5832 ' g
c,cﬂ);l.ﬁf'bjh"&bﬁylﬁaw;uﬁu.u’bé{_:&VLJL»%{QVG_L?. -gLzpsCB :Aa&k;@k&d’rﬂ I /fdly
-&Jﬂ%m-zﬂuf&u'(ﬁ.fi/:bf LL/M))?IJ-JLJG..Q Sk

D C B A Questions / = Ul l P/ﬂ
2 7 AN R ' weidse s 1|
3 . . o s i The types of test data are: |
Sl JoLk s ] N ; ‘
/g U.J--’ ft’ ‘U"’"Q'./’ ,J."Lc‘;)ﬁr(ﬁ:#"f‘a&g i2
Flowchart Validation Algorithm Verification means to test if the required solution is there. i
e a1
10000 10011 10100 10110 ~etel _ mon ARFTUA 3
Number "20" is equal to in binary system.
(A-B)+(A-C) (B-C) A+B+0) | A+®B-0) ezl AB+O | g
Expression A -(B+C) is equal to:
30 32 29 31 wReUA_ RAbpval s |
IPV4 address is made up of <\ binary bits. f l
(-4p) @@
<&
& Qﬂ)
b £ v A . @% . - x
& ;
- * -2- Objective Paper Code 5832
D C B A Questions / o Ul e
jﬁ’( e ez <l -ujL[Lu.'.'J’-U e et 6
Protocols Networks Addresses Channels | Routers connect multiple together.
® ® ¢ o ?q_dzﬁ;wf&fit{kﬁc&mé(ywduf 7
Which symbol represents the copyright protected product?
A5 lfr,/ Sy <k Bl e b E Ly 5 8
Cr)p{g:ph:c Password Patent Soft lifting | Which is used to read an encrypted message?
<i> <b> <u> <p> _q_.b’ﬁJW’ﬂ ; .ﬁcf”f_ L L'g""g——- 9
tag makes the text underline.
<br> <R <b> s ?rrbndtv"'lfu{iéé—ﬁv@/ﬂ{/’é%:uﬁ | 10
Which tag is used to create a hyperlink in a webpage? |

922-1X123-35000
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08  Write short answers to any FOUR parts.

ot o) FAted
40 4F & o145

( Part-1 d,\m)

Differentiate between verification and validation? _é’,: uhu/uﬂ'gf 270 u"ﬁ‘ ®
What is trace table? Sesl /U’c;(f"}f' /(i)
How does algorithm play an important role in problem solving? S'4..t'/bbl;f(' i L)J( (95 d.fd’,p(" i (iii)
Draw a flowchart to find the area of rectangle. L ludu [,,B K/ J“QJKJ’&’ gfr iv)

Tq_ L;J’Iuj)/J/}JVLf( A.ﬁé.bf;_a )
°c..)l/lf;uwc,¢ (vi)

Which software is needed to create a webpage?

ezl e 8 2

What is meant by hypertext?
08  Whrite short answers to any FOUR parts. SR Y S -J..«Ui/"z'l?bbaéf 3
Convert (69610);9 into hexadecimal number system. d ..g;(J /{uftr"/ / 5.4y (69610); )
Define the identity law. - _E Sl )
What is meant by plug and play devices? . c;_Jl/Lfc. /U:LAAJI (iii)
Explain truth table with example. _éu?b;cdﬁ'(f J’ #t (iv)
What is meant by software key in piracy? ?c‘..:l/l_g(a. J/::.)VJ@./Q )
Write any two characteristics of good password. -g{ : yayr“’uaqu ULl (v
(/) @@
©
<&
NN A VR S B 77 B EEECETEEEEL . DELLELLES
08  Write short answers to any FOUR parts -é.:«ym/"?&,m c..(jf -4
Describe appllcatlon sharing, . iy o E‘P(L'Jk SEZ 2N )
Determine two advantages of star topology. -g’;’fp‘"f I};:L(}:‘,Lph‘, (ii)
Define router. ZE3F8 (i)
Write names of layers of TCP / IP., , _E LA TeRITP ()
What is meant by <p > tag? ' S’;,;!/t[::,..ﬁ <p> )
Show the difference between ordered and un-ordered list. _é /:U:'J /uf M.,»j]drabbv,g?} (i)

-t / 08 cf—d'f/ ~<{/f._,w£..,mm:,‘}! o J.\th.aa

Part - II, Attempt any TWO questions. Each question carries 08 marks.

08 ol b B -éul s e

Define flowchart. Draw and describe different symbols of flowchart.

04,04 J/Ju'ﬁ;g/ (o) F SR B ) B
Write noteson:  (a)  Application sharing  (b) ~ Internet connection sharing.
08 ..i Wheeat ld/ d/b,ﬂ?/ S Eln dt‘ua Yo °4.)I/U/:_451KA7

What is encryption? Explain the importance of encryption for everyday life on the internet.

922-1X123-35000
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1

/ :(/b,ulafduaféu’iu/»c,u:UJ/|)£¢_)¢VLJ|V//QK6|? -u‘éc.;D s C B :Auk’ij/lrﬁdl,//
..(ﬂl}‘}wuu’u’au:ulfJé—fJu{L&—/JUJ/’}B)LJC—J 2’:.:/

'\’ D W C B Questions / = Uy
1 a

. ‘A* Ator dot (+) means that P and Q may \ i
| alsehe Wri ' _\
| (1000), ) ' N L/I/J;LEV.JG)IO 2
L The binary equivalent ofdz;mmal number (3)1 i8:

‘ 0-7 1 btfg}”//)wlruudwd,

.‘_‘ ______ B The decimal number system consists of digits:

‘w‘ L L -ébb/ KJIE.»_,/_/U’):VJ

!
!
Before problem ‘solving, we need to first ____
Pl(mnmg Un unduslandmg

{
‘,\ grmi Analysis problem.
| .',37.:,2_~/g| . ,.::!(’- Ry o I \ <Ld[(—ﬂgfu)/&,)”ﬂ/oﬁ~yj(f/ 5 ‘
l Dwide and hxch strategy divides a complex problem into \
k Act it out conquer Prototype | Guess roblems? _\
1 e 2Bt e N bt A 6
- Cipher text Plain text Secret text Password | Thie encrypted data is called:
| i = : b
! < htiml > l < title > < head > < body.> LL;J‘/ )V'uri(_i
o o ] 3 The element is container f‘or meta data.
' ¢
i <body> \ < head > <title > ) o C"J}PVC U/
L i '» Which tag is singular tag? ‘
T \ 57 Q¥ o 3 Mo’ 9
<~ Y
Trade secret l Patent Piracy Copyright \ is a way to protect an idea.
- - " | B >
=l 1 v (b VLY c_lerJbLJ_.)Ur’ iy | 10
| Information | | Address Message Protocol | The receiver must be capable of accepting the:

19-1X122-35000
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( Part-I dj\ Alas ) FBP ""’ P>

Write short answers to any FOUR parts. u“’i‘ga&’ﬁ/"'?éf«lZU%c;,Jﬁr
List five "Ws" to understand a problem. «é—t/\yﬁ"(! "Ws" égé.aié',ﬁ’/ (i)
What is the role of algorithm in solving a problem? "@;'}/L_f(f;’;faufi./gf)? (i)
How is a flowchart constructed? ?q,rtggtxa_f¢,/lgﬁ (ii1)
Give any two examples of storage devices. ‘gi:{fdl‘/‘» Jfg,(//igi({;»" (iv)
How hexadecimal system convert into decimal system? TZJ_/JJ?C}’J(%(LB@W'I(@J‘“)?VQ )
Convert (11011); into decimal number system. -g{J_,&UZ Lbjd/tﬁfif (11011); (Vi)
Write short answers to any FOUR parts. J@&’Kﬁﬁr'?bk@él

p
Draw truth table for A*B. @@@ -’L“—b.&;a;)/.{ AB (@)
S S e skedi) (i)
Write two examples of proposition. O%% & J;)’-'g\"‘/:.w_;c)’“'--)gl/7 (iit)
Write two examples of IPV6 address. %5@ ..c"_"g u—'éi‘/»&ﬁuél IPV6  (iv)
@ -édﬁ&dﬁ){ FTP

What is meant by truth value?

Define FTP protocol. )

@ g flecs i)
: STy /A
c L LPIDos (i)

Define internet.

Write short answers to any FOUL
What is DOS attack?

Describe two characteristics of a phishing website. -gi:uy..;yﬁ%; JJ/’ Lf,/,.jﬁ (i1)
Write a HTML code to add horizontal line. &y uML L L6 AF (i)
Write HTML code to make word “student” ltalic. -é_"gﬂ(HTMLc_‘.L oS ttalicd “student” 5 (iv)
Describe the steps involve for creating the webpage. e b’Zt/fc;Jﬁ/ur;_J_.LLLz@_/J (v)
Define web surfing. -g‘i:».y/".sfvé/u;: (vi)

_utA 08 L i feln e trie S i dan

Part - 11, Attempt any TWO questions. - Each question carries 08 marks.

What is test data? Write three types of test data. -”{ugog}f&}uluﬂfm.&:: ?4“..(5({25.:4:
eSS ATz gE P8Iy Tepip
Define TCP/IP protocol. Further describe two layers of network layered model.

-g:”ug;;md’d/(g?’{qy’-’fuﬁ Jﬂ)o/}u/':' ?‘7_)!/9";—.,615/,,”&5
What is encryption? Explain the importance of encryption for everyday life on the internet.
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c,@L/CL;C/":}WJ.WL.,li:...wuc._;_ﬂu,}b&fé_:&,L«z:dv;;Q(Qw LD s C B cA...,UR.«Zl{[.JV/ /U"’
-fnzr"-wviﬁuﬁﬁ:.uﬂg_{i_fi/&( LLfﬂu:/’buLJc—ug L1 ]
D C B A Questions / = Uy JeAf
=l skl 4 J!(!’—'{ -g‘___.lgtm}&’:i_/v; D»JL)!‘/ 1
Information Address Message Protocol The receiver must be capable of accepting the:
! Jl/d/lf Wi Lf.}& _’/ljgél( <ib C‘-.?_)KQJ’WJ&}!’TJ( 5
Trade secret Patent Piracy Copyright isa wa\ﬂ rOtect an idea.
G Sabese | osaA el gt L Fe8Ron N1 v Lop it s 50000 iz |3

Advance fee

Piracy Identity theft fraud Hacking g@% (-‘J!"(J())-fb(f"-)/': Vg””"df"f{.l)lﬁ'

. Xxlsx . doc . xhtml : @ -Lf&— {)W'U/‘y L K’J i /i-"’fffcv’um 4
{¥e

To save the webpage we use . as file, extenslon

“Zu/dwuuffé.fgé/fvﬁ(tﬁu 60 5

e T

< table > <ul> i's On webpage to give the numbers before fruit's hame
N which tag will bf- used?
Sy | et ol 15 e At 6
Progress Output i Input Decision The <> symbol in a flowchart indicates:
SAy L A U7k e S UK Il e 7
Privacy Browsing Right Piracy means making illegal copies.
16 8 10 2 PRY-NEATRIT S L
' The base of hexadecimal number system is:
(2 (~ StSRE | Uy e Jelis| 9
ROM RAM Secondary Primary p1.1d disk is an example of: ‘
memory memory
< Ut et < AN T ?dg"f(ﬂ P A5 p=re gZuT A 10
Today is not | poday is holida Today is oday is not o . . _ G
Sunday oday 1s hohiday Sunday holiday If P = "Today is holiday" then p =
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( Part-1 U3 duZas ) gD"‘l 2-2)

Write short answers to any FOUR parts. e LL?/"ZJUDIVLO/
What is meant by act it out? L e w3 lulb/{' ()
What is purpose of decision symbol in flowchart? e t‘(gy(b/t_/b/y!}qfdjbkuf.wg;u (i)
What is meant by candid solution? ?q.ﬂ/l_fc,c;}’ﬁa( (iii)
Convert (137) ¢ into hexadecimal number system. ,é:(g_f“)fuf J":J"S Ly (137)10  (iv)
What is meant by number system? "c.)l/\/crw]dm (V)
What is difference between memory and storage? fe. SASSC s (vi)
Write short answers to any FOUR parts. _éulb"/"z.'l?’Jlac__d/
Draw truth table for AND operator. -c..LrJ'}f:/ K//' AND (i)

Write commutative law of Boolean Algebra. @@ _JJ)L_/U:W ('/:4- tﬂj:{ (i)
Write the use of truth table. -£‘JLJ"K&B}‘J'} (iif)
What are different types of transmission medium? {&Q{BO S JJ?Q'JBJF’%’ u%-“Jl/' (iv)
% S S rund LIk AT

SE ARG W)

Write short answers to any FOUR parts. @@ -é Lb’/"‘érlﬂ/bcé)f
& owC{éd/‘)J‘}JuL)b'J)'u; ()

-g;"._.y/’JJ»’.ﬂmlt (i)

ith HTML code. =gtwke 3 HTML S tpllUwid Z ¥ _f <oL> (i)
Write the HTML code to make word "Pakistan" bold. ) -’&UJUKHTML__ié d__/ﬂ:’[ "Pakistan" L& (iv)
Define paired tag. - X '\_:_ ;J/)Jué (v)

w{\ v L%
%q)/l/u" height s width Lx$al L <img>  (vi)

What is difference between width and height. attrxbute&of‘ﬁ%ng > tag?

Why addressing is mandatory for data communication?

Detine mesh topology.

What is confidentiality of data and informatio
Define hard disk loading.

What is use of < OL > tag? Descrj

-kf/ 08 £-L})"'/' —é//s—/“)’d—w“’/ﬁ)é’——d[ te.a‘).lm

Part - 11, Attempt any TWO questions.- Each question carries 08 marks.

ooy S ST B S S e i L LS e

What is meant by planning of problem solving? Explain different strategies of problem solving.

~E okl Jf”ut&:’guém&ﬂg/u

Explain with detail difference between star topology and ring topology

LS U ES A s S S B Sy S BB

Define phishing attack. Also write three characteristics of phishing Email and phishing website.

20-IX122-35000

-y}

-3

-4



08

08

08

............ i/’,Uu "{yl?

oS ((ELe) u”Lf ,wf
40 A F  E 0145 =

( Part -1 Jilaas )
Write short answers to any FOUR parts. FGD-Q'- - ugl?/‘;ﬁpl]lzlvc_él(
What is prototype? "c..Lar (prototype) < (i)
What is meant by algorithm? ('q..ﬂ/l_f(c;//’j (i)
What is purpose of using the terminal symbol in a flowchart? ?c‘_andb:*qu',ﬁﬁ‘fc/ﬂi&)a}uﬁ_wkﬁ (iii)
Describe the importance of flowchart in problem solving. -siuy.:,ﬂg!_wtgﬁutd’ﬁk @iv)
Write the definition of HTML. @y HTML (v)
What is hypertext? °¢.lev/C/ boo(vi)
Write short answers to any FOUR parts. - u&'j’/‘![—r'?blpc—tj)(
What is meant by hexadecimal number system? ?c‘_.)‘/kfcrlb)du&fﬂ/-c‘ (i)
What is meant by measurement of size of computer memory? ?nggcj.Lg_Jy/lxﬁdmfi;:;{ @)
What is compound proposition? ‘-‘u_}‘%féﬁjg:/v}:fg (iii)
What is meant by truth table? ‘.'g_)'/l:‘/(__ Jt’iu' @v)
Explain the fraud and misuse. _Z.:(wu;g,(db;’!w»lo‘uff’) v)
What is meant by trade secret? "¢)l/(/c../‘/dzb’ (vi)
Write short answers to any FOUR parts. @@ < u&b’/‘jé:rl]bbc—éf

Define protocol. % -éJ/‘UUL’:/ (i)
Write the function of transmission medium in data communication. %{& _i:ulw(i{(fy u"/l/u" u/"c,f (ii)

Define IPV4 address %5 -g_\_/..y/’&ﬁ;&l IPV4  (iii)
Write the use of Simple Mail Transfer Protocol. _JJWIK (SMTP) L)ﬁ’{})'/‘dff (iv)
What do you know about head section of HTML pagé@ YQ_?Z.QQ(.;«TJg/LLCI%BLQHTML V)
Write the use of anchor in HTML'page. A\{XO __ffugdb?l(/@lufé’ HTML  (vi)
. \/ Lod rd
-JtA 08 /i _é{foglﬁéoﬂ'm)ad/ a9 Aidas
Part-1II, A any TWO questions. Each question carries 08 marks.
Write the efficiency of algorithm with example. _JMVLJVU/I/KJ/J
Write a detailed note on router. &l uiﬂ V2
Write a note on any four types of piracy. -4&){(UUL¢U’G!J&/:£
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X / . w l/ b)"J
; s/ (53e) 8% Code
: PAG % 15 1
, 10 Af w15 =5 FOD-4/.2)5835
:" G—U_:L/JLJ('/I’):IL?&WLY’ﬁWJJLL:UJ/I')éé-)a—Véd'}’/.'{(é(dm _u_féCé_)D 5 C B 'Ao&fﬁ;ﬁgédlﬁ: /'{U’J’
; -lfym‘.’wﬁ,li!wfiuﬁ'a»‘JL/},/:‘—(LL/JUJ/"’JU&):.»Q Lty AN |
: D C B A Questions /| =l &
: 30 3 29 3l ce b UYL A IPVA| 1
- The IPV4 address is made up of binary bits.
I 4 3 2 | OISt O] 2
XD Primarily there are types of memory. ]
10100 10001 10110 10000 s T ALCTEA| 3
n'L\ Number "17" is equal to in binary system.
'\&; . PR - . 3 'y H
i Yiloted J sk e e bWl L8 S L B
(. T v e = ™ S - =
o . ) ) It is used to determine the flow of steps in a flow
’\ Decision Process Flow line Connector chart:
i% ) e 3T Uit :g_JnJv?/tééLuLljluw,ut("‘fﬁ 5
! Input Stop Output If-else It is used to display values:
% J 5 LS E HIML | 6
| .DOCX XATML JHTML HTMT (©) S
' To save IML page, you can use as file
! exgszp{i\&\.
: s s us @\\-‘ugww_gﬁ L)
' <\I/L tag is used for inserting line break.
; A S p i RISD A L LS| 8
. Patent Client Sjs':e' OVES Confidentiality Caeser used this method of e
X) for sending messages to his soldiers and generals.
.!‘\"‘\ S sl Jey L G aid Lo S eSonti= G | 9
A‘\, Network Keyboard Passwords . "‘"L—l?g
(\\' are used for authentication to enter a system.
Jﬁ:{ (e Jﬁ;{/”!)_‘—rg/ﬂ Jﬁ;{ﬁl/‘ﬁ% -9anW14£L/J“.§d/,)G.§ungfUI 10
Hyper Text Simple Mail |1t is a standard protocol to transmit emails from
Protocol Message Transfer Protocol | Transfer Protocol | one place to another:

T et b g

7

¢
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